Math 2415: Some formulas, examples, and quiz problems

Part 1.

1. “No Calculators are allowed on the exam.”
2. “Don’t miss too many quizzes.”

3. “Work on Part IT and turn in your answers to your TA on June 5, 2024.”

4. Some formulas:
(a) cos’t+sin’t =1, cos?(2x) +sin?(2z) =1, cos?(s?) + sin?(s?) = 1.
(b) (z+y)* =2 + 22y + .

( )2 = a? — 2zy + 2.

(r +y)? = 23 + 322y + 3zy® + .

( )3 =23 — 32y + 3wy — 3.

Examples:

i (z—3=2>-62+9;

i 42 +4t4+1=(20)2+2-2t+ 1= (2t + 1)~
4 2 2 2

i, 444+ =242t >+ (5 =(t+-)%

111 + +t2 + t+(t) (+t)

iv. (z—2)%=2%—62%+ 12z — §;

v. How to complete the square?

a a a a2
?tar+b=a"+ar+ (2’ +0— ()P =(z+ %) +b— %
24+ 6x+1= (22 +62+3%)+1—-3=(x+3)*-8.

22 —8t+7=(*—8t+4*)+7—42=(t —4)*> 0.
(f) 22+ (a+b)x+ab= (v —a)(x — ).
Examples: 2% + 6x +8 = (z + 2)(x +4), t* =5t +4=(t —1)(t —4).

(&) (x+y)*=lz+yl
Examples: V2 +4t+4=/(t +2)2 = |t +2|.

2 2 2
VE + it 4dt:/ ¢ 22dt:/ £+ 2l dt
IRGET " Vie+2) " t+2

-2 2 1, 2 1, 2
:/4 —(t+2)dt+/2(t+2)dt:—(§t v+ (e =10

2 —

t=—4

Don’t do the following since they are wrong.
L V2+V2=Vi=2
i VTP = VRV =ty
2 2
. / \/t2+4t+4dt:/ (V2 + VAt + VA) dt.
1 1

2 2 2 1 2
; 2 — 2 — — (42 —
iv. /74\/15 +4t+4dt-[4\/(t+2) dt—[4(t+2)dt—(2t +on)|_ =6

=—4

1



5. Domain and continuity of some basic functions:

(a) A polynomial, e.g., f(z) = 22° + 4z — 10, is defined and continuous for all real

numbers.
(b) f(z) = cosx and g(x) = sinx are defined and continuous for all real numbers.
(¢) f(z) = e” is defined and continuous for all real numbers.
(d) f(z) =Inx is defined and continuous for all positive real numbers (i.e., x > 0).
(e) f(x) = +/z is defined for all non-negative real numbers (i.e., x > 0) and continuous
for all positive real numbers (i.e., z > 0).
f) f(x) = 1 is defined and continuous for all non-zero real numbers (i.e., = # 0).

X

6. The sine and cosine of special angles:

(a) sin0 =0 in<ﬂ>—1 in(ﬂ>—\/§ in<ﬂ>—\/§ m<”)—1
WEmEEE A G) T M\ T E) T 2 Mg T
. /2m\ V3. /3m 2 . (bmy 1
sin () =5 o0 () =5 o (F) = i
T \/5 7 \/§ T 1 T
:1 — = — — = — —_ — — —
(b) cosO ,COS(6> ,cos(4) 2,008(3) ,cos() 0,
1

2 p—
(5)= 4 ()% on() - . o=
coS 5 )= 2,cos 1) = 2,cos = 2,cos7r—



7. Some formulas for finding derivatives:

(a) Some basic results:

1.
ii.
iii.
iv.
V.
vi.

Vil.

Given f(x) = ¢ for some constant ¢, f'(z) = 0.

Given f(z) = 2" for some non-zero integer n, f'(x) = nz" '
For f(x) =cosz, f'(z) = —sinzx.

For f(z) =sinz, f’ (x) = COS Z.

For f(x) = ¢*, f'(z) =

For f(z) = lnx f(x )—1/x for = > 0.

For f(z) =+/z, f'(x) = xé—ﬁforx>0

(b) Some basic rules for finding derivatives:

1.

ii.

1il.

1v.

(a f(x) +bg(x)) = af'(x)+ by (2):

d
Example: e (5ZL’3 + 4x — 2 cos x) = 1522 + 4 + 2sin z.
x

(f(2)g(x)) = ['(x)g(x) + f(2)g'(x):

Example: jx((5x3 +4x) cosx) = (152* + 4) cos x — (5z® + 4x) sin .
(f(iﬂ))/ _ [(@)g(x) — fx)g'(x).

g(x) g(x)? '
Example: CZU (5:13(12;4:}0) (152% + 4) cos:o—si; (53 + 4x) sinx

(f(u(@)))" = f'(u())u ():

Example:
AL ((52° + 42)*) = 3(1522 + 4) (52° + 4)”.
dx
d 3 2 - 3
B. . (c s(bx +4x)) = —(152° + 4) sin(5x” + 4x).
d 5z3+4x) _ 2 523 +4x
d 1522 + 4
D. — (1 544 =
dx ( n(5a” + )) ba? + 4z
d 1522 + 4
B (VB +dr) = Lorm v

2/5a3 + 4



8. Some integration formulas:
a) / dx =z + c.
(b) /x" de = ——=x
1
c) /fdlen]x\—i-c.
x

22T
(d)/\/de: =

Examples:

1
i. /xde:§$3+c

" cforn# —1.

1
ii. /dex:6x6+c
1 1
i /de:———i—c
x x

(e) /sinxd:v — _cosz+e.

(f) /Cosxdx —sinz +c.

(2) /ewdx ="+

(h) /(a F(@) + b g(a) de = a/f(:):) dz + b/g(:)j) dz
i) / /() (x) de = f(u(z)) +c. (u-substitution)

Examples:
. 4 2 4 5 7 3
i. /(433 —Tx —5)dx:g;1: — 3% — oz +c.

1
ii. /xcos 3 dx = 6 sin 322 + c. (u(x) = 32?)

1
i / 29365’02*2 dr = 565952*2 te
1

. 1 2

/f Jdz = f(x)| _ = f(b) - f(a).

a

Examples:
1 4 7 1 4 7 98
. 4 =2 _ (=5 _ ' 3 _ _*_ ' e_
i /0 (4z"* — Tz 5)dx—<5:c 3% 5a:> 0= F 3 5= 15
. /” 137 d ( 1 5 ) ™ 1 ( 1) 2
11. 1m - —_— = — — ([——=) = —
; sin 3z dx gosdz )| _ =3 3 3

1 1 1
2 2
11i. / 20 T2 dy = 5659” +2
—1

r=—1




IT. Quiz zero problems (due at your lab on 08/30/2023)

Name:

PS ID #:

1. Find limits if possible

lim |x—|:
z—0—- X

lim 2] =
z—0+t X

lim m =
z—=0

1 .
2. Which ones among the functions, cosx, sinz, €*, \/z, —, are not defined on the entire
x
real line?



3. Find an equation for the line passing through points (2,3) and (0,4). (hint: The
line passing through points (zg,yo) and (z1,y1) is y — yo = L=L(x — x¢).)

T1—xo

4. Find the center and radius of the circle 2% — 3z + y? + y = 4.

5. Given f(z) = sin(2x) + cos(x? — 3z + 4), find f'(z) and f”(z).



6. Given f(z) = €*’~7(4 — 5z + 62%), find f(x).

4 — 4
7. Given f(z) = b + cos x, find f'(z).

rx—1

8. Evaluate /(4 — 5z + 62%) dx.



9. Evaluate / ze” 3 dx.

2
10. Evaluate / (2t + 2) sin(#* + 2t + 1) dt.
0

2
11. Evaluate / V2 4 2t 4+ 1dt.
—2



